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1) ~FE 0. 880 (m) X g W 0. 400 (m) X & t 0.030  (m)
2) X CGEFARY) Lo= 0. 870 (m)
3) RV & H= 0. 700 (m)
4) F#RfTE L q= 0 kN/m”
5) HiFKNL 4L
6) T HM: AXE
SUIVAER s y = 18 kN/m®
PR R A o= 25 °
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§£§+%@6§§ f ck= 24.0 (N/mm2>
PR B A s 77 B oca= 8.6 (N/mm?)
TEEE AW B Ta= 0. 45 (N/mm?)
BPELR SR Ec= 25 (kN/mm”)
= 25000 (N/mm2>
kA VVARINCEETS 0 sa= 137.0 (N/mm”)
9) ZefRE fif FH BR ALK BE
MEHMR S ye= 1.0
faf B AR I yf= 1.0
AR B yb= 1.0
TSR AR yi= 1.0
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1—sing¢ 1-sin25°
K= - = — = 0. 406
1+sing 1+sin2b
P= KX (q+y XH)= 0.406 X (0+18X0.7) = 5.116 kN/m2
BRI 1 D F A
M= PXL/Xyf,/8 y o frEfRE 1.0
= 5.116X0.87°2X1/8
0. 484 (kN+m/m)

TR e FE 0.400  m&b7= Y OWriRSNZTHR S5 &

M= 0.484X0. 4 = 0.194 (kN-m/¥7) = 194,000  (N-mm/#%)
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TR ORIE (AR X) - b’ = 400 (mm)
T ORE t = 30 (mm)
@S e d= 18 (mm)
PR $2.6 — 3 (R
As= 15.93 (mm?)
=z ) — h O IRE fbd= 0.42%f ck®?/yc= 3.5 (N/mm®)
a7 Y — N OFKEFHEUETREE £ ck= 24.0 (N/mm?)
MEHREL - ye= 1.0
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. = (m*b’ *t+n-As)> meb ~t?42-n-As-d - m+b’ +t+n-As
N b (1—m)}” b (1—m) b (1—m)
— 12.53 (mm)
Wik —IRE— A2 b o 1
’ 3 _J\3
[ = b’ {x +H;(t x) "} +n-As (d—X>2: 6. 200E+05 (mm4>
OB U I /) : Mer
Mer=—1Ebd 949 000 (N-mm/k)
m(t—x)
3) HIE

T ) & OO Wi ) 2 e LHES 5, 723,

EELDLBHDET D,
Md= MX yi= 194000X 1= 194,000 (N » mm/#%)
yi: HEEWRI 1. 00
Wt it i 0 D 22 42
Mud,/Mcr=  194000,249000= 0.78 <
b DFE
1) Wrm —kRE— A |k
— 1 3_ 1 3_
I = ‘Wt = X 400 X 30 *=
12 12
2) 7o
~ 5:Md'L  5X 194000X 870 °
b 48+Fc-1 48X 25000X 9. 0000E+05
3) AN
v 0. 68 _ 1 1
L, 870 1279 600
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1—sin¢ 1-sin25°
Ke——mm = —4—M—— = 0. 406
1+sin¢ 1+sin25

P= KX (qg+vyXH)= 0. 406 X (0+18X0.7) = 5.116 kN/m”

M;= PXHXI1/2XHX2/3XL
= 5.116X0. 7X1/2X0.7X2/3X1 - 0.836  (kN+m/7K)

S e - MR E - IHTE—A 2 b

, 1+sing 1+sin25°
K =-———mmmm = —— = 1. 894
1—sin¢ 1-sin25

PP =K XyXH XBXa
= 1.894 X 18X0.5X0.31X3 = 15.853  kN/m’

H : ZERANRS 0.50 (m)
B @ JEEERE XE 0.31 (m)
o R 3
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a7 Y — MUSERGEE - i LEE (eEa 7 U — M)

M,= P’ XH’ X1/2X (H+H —H’/3)
= 15.853X0.5X1/2X (0. 7+0. 5-0. 5/3) = 4.095  (kN-m/A)

M=  0.836  (kN-m/A) < M,=  4.095  (kN-m/A)
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